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Ratio

F x [%]
: 5 g I
1.8-_ = E 1_ .............................................
E g ¢ I
1'6:_ 3 Lo : : :
- R | S
LA 3] [ : : :
1.2F E [ : : :
F O DBt
1= x - : : :
o S [ : : :
0'85_ E 0.4 imeerrre e e e
0.6F [ : : :
04F L% R S e s
0.2k [ : : :
OF ° °
15F 5] =
E @ o4
1
ost 3 s
1

So. (Ge\})02

ugm original_Step2 Eutozu_etal B6lo2p0
t

M_mKkFit sTelp _F to20_etalp tozf
emplate_step2 ptlto20 etalp6to2p0

—— D

—— D

M~ pixelCPE
2

1.8F

RS H

Pull of y for PV

Pull ot y

1.6

1.4F

1.2

0.8

Ratio

Pull of z for PV

Ratio

0.6

il

Pull of y for merged vertices
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